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Unit 6: Linear Equations and Graphing
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4. Solve each equation using distributj‘y:e\property. Verify the solution.
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5. Create a table of values from -3 to 3 6. Identify the linear rule that matches a graph I
fory=2x-5 Does this graph represent ! B
zly y=5x—-10Ry=-6x+1 s
-3 |- N 9-(‘3 "5’ =-6-5=- \ , =3 —|_g‘ )
-:7[ :q =3(2)-¥ =-4-5 =-9 - OM' _— . "
s 22 =aci)-s=a-v =27 S s
’ -— »’ =20
Y= B
' i [

.—i -

3
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~<3x + 8. Some ordered pairs in the relation are:
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8. Can you solve linear word problems?
The cost of admission to a fair is $10, plus $3 per ride. An equation for this relation is
C = 10 + 3r, where r represents the number of rides a person goes on, and C represents the total cost of admission and

rides.

a) Harvey went on 13 rides. How much did Harvey spend on admission and rides?
b) Stephanie spent $31 on admission and rides. How many rides did Stephanie go on?

a) ( =10+3f
C.= 10+3(13)
C=10+ 35

[C=49 |

L) C=0+3r
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4,~4) Find the missing numbers in the ordered pairs,




